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N 122100 x 14 = 122,100 H

(HARCHERIL. NARLIZTEEND)
RITIEERIR 200 x 26#fi= 5200H
BITH 21,800 H
ALEME 10,000 A
ErE 2,000 H
BRER XA 2200 x 26 A= 57200H
Fi 1,100 x 26 A = 28600H
BEEMEASR KA 960 M x 26 A= 24960 H
F 100M x 26 A = 2,600 M
ErEH 2,000 H
INET 276,460 M

Z 01
ZEETILINL 14000 x 26 A = 364,000 H
FEES M 15,000 H
FRRESHNFE 3,000 M
BELAR 200 x 26 A = 5200 A
X =
INEL 387,200 M
A5t 663660MH — 300,000[ (>ffEI%) = 363660 H
363,660 — 12,000 A (#&HARERS ) = 351660 H
351,660 H ~ 26 A = 13500 M
13,500 H + 12 A = 1,200 H
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